£, (1077 erg em™ 787"
0.2

0

o1 0.2 03

£, (1077 erg em™%7'87")

0.1 0.2 03

1, (1077 erg em™%7'87Y)

-0.1

0.1 0.2 03

£, (1077 erg em™7'87")
0

-0.1

4

£, (1077 erg em™%7'87")
2

rm781 NLR 3204n 3204.07

=0.1

rm781 NLR [NeV] 3346.82

rm781 NLR 3427n 3426.84

BLR 4720 NLR 900 km/s BLR 4720 NLR 900 km/s

BLR 4720 NLR 900 km/m

WinHW 900 km/s 3194 3214 5/N 0.657 nmwmun/lsmswll m WnHW 900 km/s 3417 3437 . SMss
rma 208(426£72) S [1rma 361(385438) Fogn 7.31(45)E~1f
mad 150(35168) mad 264(203440) 705(48)E-1f

—132(-22 ~ ~NT twhm 372(370£10)
W 132(-232129) &3] m’fg‘;’_:;lm & > 372(370£1)
T, T,
J T; . top —a5(~118434) T;
L S L
E ¥ E §-
§ La g %
5 < g <
2 = 2 =
] 8
b ° S
5 =1 e
d a
500 ] 500 500 [] 500

velociy (km/s) z=0.263880 velociy (km/s) z=0.263880 veloclty (km/s) z=0.263880

m781 NLR 3968n 3968.58 m781 NLR 4074n 4073.63 m781 NLR 4103n 4102.89

WinHW 900 km/s 3957 3881 S/N 000754 WinHW 900 km/s 4061 4086 S/N 25/ WinHW 900 km/s 4091 4115 S/N —0.0064¢

Hrma o473278) T TT™ Fegs olo(azye—14 nf fr= ziteerssy T Fegn B7(2.0)E~18 af o470475) T TT 7 Fege 0.0(3.5-18
mad 0(404473) . 0,0(3.7)E-19 200(28244 72(20)-18 ad 0(402472) —0.0(3.5)%-18
ovg 57110169 | | || tonm GaC0BL534) ~ —vizrdar) || ] | fwhm 402(4502171) ~ | g -eok30ateny | | || tohm Bo(7O28521)
med —822(112230) . > 89(235£765) L o _170(- ) > 402(382+128) L o d —860(-34:227) > 89(2521746)

[|top —822(182554) | | || 1 ,;,- s[ 7(. 1) | ,;,- L

. « & « &
N N
L. 1 £ §z
8§ % g %
i e i Ze
13 3L I [ -1
500 o 500 —500 [ 500 500 [] 500
velociy (km/s) z=0.263880 velociy (km/s) z=0.263680 veloclty (km/s) z=0.263880
m781 NLR 4687n 4687.02 m781 NLR 4B63n 4862.68
WinHW 900 km/s 4573 4701 /N 0.00891 WinHW 900 km/s 4848 4877 S/N 134
3 ¥ qf [ma 248(280416) Fegn 6.08(4B)E—17 rma 178(184%10)
[ ihad 178(188210) s.ueas):g mad 141(143£4) 2053(41)E-1
o [ pvg 131821 fwhm 336(33 =~ (81 fwhm 3403404 7
I 1 L] d -z(-:w;)) > 336(3360) ] :_g(-v:z)) > 40(34024)
,;,- - ,;,- top —79(-790)
= 5 « &
N N
[ | 1§ ¥ E ¥,
i L3 § %
: i § <
§ §
H ° ~ = °
E. id a
~500 [] 500 —500 [ 500
velociy (km/s) z=0.263880 velociy (km/s) z=0.263680 veloclty (km/s) z=0.263880
m781 NLR 5721n 5721.11 m781 NLR 6087n 6086.92 m781 NLR [o1] 6302.05
WinHW 900 km/s 5704 5738 WinHW 900 km/s 606D 6105
Fegs 8.5(3.4)E-18 3 367(404 4" T y
od 169(251242) 8.3(3.4E-18 od 284(311£54) n 15(33)E-17
g —25(7. fuhm 318(348294) ~ [ de ~ fwhm 315(308+31)
e > 318(312:47) RN i L > 315(308430)
op —50(-52+36) +- ST thp —71(-70£73) +- 9
= § « &
N N
E ¥ 5
8% g %
=R E R
§ g
CI a3
velocity (km/s) z=0.263880 velocity (km/s) z=0.263680
m781 NLR 65850 656461 mi781 NLR [Nu] 6385.28 m781 NLR 6718n 6718.29

WinHW 900 km/s 6545 6584 5/N -2468 WinHW 900 km/s 6566 6505 WinHW 900 km/s 6598 6738
e 304(30454) ] Foge —1.86 ] <« [ fme Seaaiaan)
moad 322(32244) = E-17  fnad 374(374.8)

241(24123) . ~ b oapr. ~7
x’_‘g ) > 241[24123) . L Wl 200 2054 I? ” L
top —79(~7p+0) '. .'f : ( P‘ 'If
1o ST /) « 8
18 §°F E §3
18 L | § %
3 A2 = | i oz
1w T BT
A | | P a ° £
~500 [] 500 ~500

velociy (km/a) z=0.263860

BLR 4720 NLR 900 km/m

BLR 4720 NLR 900 km/m

1

£, 1077 org om™%7'17Y)
2

03

02

0.1

£, (1077 org cm™%~'%7")

=0.1

10

1, (1077 org om™%'%7")
5

0.2 03

0.1

1, (1077 org om™%~'%7")

1

0.5

£, (1077 org om™%7'%™")

rm7B1 NLR [ON] 372B.48

rm781 NLR 3870n 3869.85

WinHW 900 kmy/s 3717 3740 S/N 334 WinHW 900 kmy/s 3858 3881 5/N 214
rrme 208(213111) Fogn 1.411(42)E-14 e 171(204+19) Fegs 7.58(5)E-1)
mad 162(165:6) 1.400(42)E-19 o [ rhod 137(1520) 740(33)-1f ]

. fwhm 451(45126) ~ | dug 0701213 fwhm 340(33048)
med —18(—18:4) 1> 451(45126) L0 | hed —o(—s3:5) > 340(339:6)
top —26(-20+19) . ;- 2 thp —69(-8920) 1
[ 1s &
t g
H 18 %
ERA-
e
g
i H o o
a
~500 o 500
veloclty (km/s) z=0.263880
781 NLR 4342n 4341.68 m781 NLR 4364n 4364.44
WinHW 900 kmy/s 4320 4355 S/N 1.37 « WINHW 500 ken/s 4351 4378 5/N 257
: S [Trme 234(333851) T X
i mad 181(242442)
£ flavg -Bt(—snaen)
5| [mea —o3(-s0u28)
i top ~a3(~08+15)
.Y
e ¢
g i
s 2|
§
=1
Ha
~500 ] 500 ~500 [] 500
veloclty (km/s) z=0.263880 veloclty (km/s) z=0.263880
m781 NLR [OI] 500824 m781 NLR 5201n 5200.53
WinHW 900 kmy/s 4993 5023 S/N 129 WinHW 900 kmy/s 5185 5218 5/N 1.28
e 161(163.2) Fogs 6.624(61E—16 [ e 365(393240) 32
had 136(13721) 6.615(51)E-16 S [ Imad 275(309+30) I
—T(=7821 fwhm 384(384:2) o~ 10(1147:
L1e, _7;’5((_75*,)) > 384(38422) P i ,((,,*573)) > 320(300+140)
bp —63(—630) ,?- S [ hop 32(14205) 1
« &
T gsf ;
L g Tg
3 Zoy k
§
— —li st .
~500 ] 500 [
veloclty (km/a) z=0.263880 veloclty (km/s) z=0.263880
781 NLR 6366n 6365.54 m781 NLR 6550n 6540.85

WinkW 900 km/s 6346 6385 /N 0.00312 WinHW 900 kmy/s 6530 6570 5/N 2.48

[rme otares7sy = T 7 TT " Fegs 0.0(35)14 | © Hems 383(37b322) e 1 214
mad 0{409:73) 0.0(3.5)-19 15) 1 =r
avg —asr(—zsﬂu)l | | | fwhen B9(600+541 o 410411) ¢

[ |med —a22(-3322409 > Ba(2242783) | Y ||msesisasse) > gl 247 49)
top —uzz(—m;ssz)l | | | ,?- « Htop 508(631235) g 4

§ § \
¥
| at
E R
§ L I )
E ° . i/ )
500 [ 500
velocity (km/s) z=0.263880 veloclty (km/s) 2=0.263880
m781 NLR [SI] 6732.67 m781 NLR 7321n 7320.90
WinHW 900 km/s 6712 6753 /N 1.78 WinHW 900 km/s 7289 7343 S/N —0.00400
306(396417) 91013217 af TT TT Foge 0.0(3.8%—18]]
ad 347(346210) 2.38(1.32)E-17 ~0.0(38)—18
[ qva —234¢— fuhm 601(53642¢) o | g -87ssto0 | | [| o eaceazanas)
; > 199(204+37) L o F Irod —84z(-53:228) > 8(2304747)

,;‘- S [ top —uz(—uz-mz)l | I

« §
R i

] L
7T T 3 L. I

! “» g :
/RS W) g
i DM — |
500

n
BLR 4720 NLR 200 km/a

BLR 4720 NLR 900 km/s BLR 4720 NLR 900 km/s

BLR 4720 NLR 900 km/a

BLR 4720 NLR 900 km/a



